
Honky Tonk Women  [G] Rolling Stones         1969       BPM: 112 

Writers: Mick Jagger ,Keith Richards 

https://www.youtube.com/watch?v=hqqkGxZ1_8I  [G] 
https://www.youtube.com/watch?v=DY88zSK3BLs&t=4s  Ukulele 
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INTRO:  [  C O W B E L L ]  [  C O W B E L L ]  [G]/// - // // - // [G Riff] 
GUYS: 

I [G] met a gin soaked [G] bar room queen - in [C] memphis [Csus4 – C .] 

She [G] tried to take me [A] upstairs for a [D] ride [Dsus4 –  D .] 
She [G] had to heave me [G] right across her [C] shoulder [Csus4 – C .] 
Cause I [G] just can't seem to [D] drink you off my [G] mind  [G Riff]  
 

ALL: 

It's the [G] Hooo - [D] oonky tonk [G] women [Gsus4 – G .] 

[G] Gimmie, gimmie [D] gimmie that honky tonk [G] blues   [G Riff] 

It's the [G] Hooo - [D] oonky tonk [G] women [Gsus4 – G .] 

[G] Gimmie, gimmie [D] gimmie that honky tonk [G] blues   [G Riff] 

GALS: 

He [G]  played a divor[G]-cee - in New York [C] city [Csus4 – C .] 

He [G] had to put up [A] some kind of a [D] fight [Dsus4 –  D .] 
GUYS: 

The [G] lady then she [G] covered me with [C] roses [Csus4 – C .] 

She [G] blew my nose - and [D] then she blew my [G] mind [GRiff] 

ALL: 

It's the [G] Hooo - [D] oonky tonk [G] women [Gsus4 – G .] 

[G] Gimmie, gimmie [D] gimmie that honky tonk [G] blues  [G Riff] 

It's the [G] Hooo - [D] oonky tonk [G] women [Gsus4 – G .] 

[G] Gimmie, gimmie [D] gimmie that honky tonk [G] blues  [G Riff] 

(Fast -- Single -- Down -- Strums ) 

It's the [G] Hooo - [D] oonky tonk [G] women [Gsus4 – G .]  

[G] Gimmie, gimmie [D] gimmie that honky tonk [G] blues  [G Riff] 

 

It's the [G] Hooo - [D] oonky tonk [G] women [Gsus4 – G .] 

[G] Gimmie, gimmie [D] gimmie that honky tonk [G] blues  [G Riff] [G \ ]  

 

UKE (Riff)   Hold [G] chord 
A -2----2---0--------0----2---0--------------- 
E ---------------3-------------------3----0---3- 
C ---------------------------------------------- 
G - 
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